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SECTION-A

(Reading Skill : 10 Marks)

Read the following passage carefully :

People travelling long distances frequently have to decide
whether they would prefer to go by land, sea or air. Hardly
anyone can positively enjoy sitting in a train for more than a
few hours. Train compartments soon get cramped and stuffy.
It is almost impossible to take your mind off the journey.
Reading is only a partial solution, for the monotonous rhythm
of the wheels clicking on the rails soon lulls you to sleep. During
the day, sleep comes in snatches. At night when you really
wish to go to sleep, you rarely manage to do so. If you are
lucky enough to get a couchette, you spend half the night staring
at the small blue light in the ceiling, or fumbling to find your
passport when you cross a frontier. Inevitably you arrive at
your destination almost exhausted.

Long car journeys are even less pleasant, for it is quite
impossible even to read. On motor-ways you can at least travel
fairly safely at high speeds, but more often than not, the greater
part of the journey is spent on narrow, bumpy roads which are
crowded with traffic. By comparison, trips by sea offer a great
variety of civilized comforts. You can stretch your legs on the
spacious decks, play games, swim, meet interesting people and
enjoy good food -always assuming, of course, that the sea is
calm. If it is not, and you are likely to get sea-sick, no form of
transport could be worse. Even if you travel in ideal weather,
sea-journeys take a long time. Relatively few people are
prepared to sacrifice up to a third of their holidays for the
pleasure of travelling on a ship.
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Aeroplanes have the reputation of being dangerous and
even hardened travellers are intimidated by them. They also
have the grave disadvantage of being the most expensive form
of transport. But nothing can match them for speed and comfort.
Travelling at a height of 30,000 feet, far above the clouds, and
at over 500 miles an hour is an exhilarating experience. You do
not have to devise ways of taking your mind off the journey,
for an aeroplane gets you to your destination rapidly. For a
few hours, you settle back in a deep armchair to enjoy the
flight. The real escapist can watch a free film show and sip a
hot or cold drink on some services. But even when such
refreshments are not available, there is plenty to keep you
occupied. An aeroplane offers you an unusual breathtaking
view of the world. You soar effortlessly over high mountains
and deep valleys. You really see the shape of the land. If the
landscape is hidden from view, you can enjoy the extraordinary
sight of unbroken clouds, plains that stretch out for miles before
you, while the sun shines brilliantly in a clear sky. The journey
is so smooth that there is nothing to prevent you from reading
or sleeping. However you decide to spend your time, one thing
is certain; you will arrive at your destination fresh and
uncrumpled. You will not have to spend the next few days
recovering from a long and arduous journey.

On the basis of your reading of the passage, answer the
following questions :

(@)  Write fwo reasons for the difficulty of reading on a train
in long distance travelling. 2

(b) What are the fwo disadvantages of travelling by sea ?
2
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(c)  Write two disadvantages of travelling by air. 2

(d) Why does the writer dislike long car journeys ? 2
()  Find a word in the passage which means “lacking fresh
air or ventilation”. 1
() Give an antonym of “narrow”. 1
SECTION-B
(Advanced Writing Skills : 25 Marks)

You are Arnab / Anamika, President of the Students’ Union of
your college. Your college is organizing an “Inter-College
Song and Dance Competition” in the next month. Write a

notice for the college notice board giving all the details of the
event.

(Word Limit : 50 words) 5

OR

Design a poster in not more than 50 words to create awareness

about the safety measures to be taken during the COVID-19
pandemic. 5

Your school has recently organized a function to felicitate
Lovlina Borgohain, the Olympic bronze medalist. Prepare a
report on that event in 100-125 words to be published in your
school magazine. 10
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OR

Your state government had banned the use of plastic bags.
You are Ranjit/Ranjita, a reporter of ‘the Assam Tribune'.
Write a report in 100-125 words on how the ban is being
ignored and what damage the indiscriminate use of plastic
bags is causing to the environment. 10

You are Navanil / Navanita. You have seen an advertisement
in a newspaper for a post of a Computer Assistant in the local
post-office. Write an application, along with your detailed
resume, to the Post-Master in response to the advertisement
applying for the post. 10

OR

You are Selim/Surabhi. Write a letter to the Editor of ‘The
Sentinel! drawing the attention of the authorities to the
frequent violation of traffic rules in your locality. 10

SECTION-C

(Grammar : 20 Marks)

Change the form of the narration in the following sentences :
(any two) 2x2=4

(1) “Why aren’t you wearing shoes ?” the teacher asks the
girl. “My mother did not bring them down from the
shelf”, she answers simply.
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(b)

(c)

(d)

(b)
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I asked my friend why he looked so sad. He replied that

his father was seriously ill and there was little hope for
his recovery.

My friend said to me, “I am very thirsty. Please give me
a glass of water”.

Reena asked the boy what the matter was and why he
was crying. She also advised him to be cheerful.

6. Change the voice of any three of the following sentences :
1x3=3

(@) He bought his son a watch.
() The girl was punished for misconduct.
(¢ Why did no one inform me of the change of plan ?
(d) The blind man was being led by a little boy.
(¢) The coach is training the players.
()  Drive the car slowly.
(¢) He will be forgotten in a few days.

7.  Rewrite any five of the following sentences using the verbs
given in brackets in their correct tense forms : 1x5=5
(@)  She (talk) to her neighbour when the baby began to cry.

I (see) him a week ago.

[6]

(c)
(d)
()
P
8)
(h)

(i)

If you (try) hard you would have succeeded.
We reached the station after the train (leave).
He (make) a doll now.

I wish I (were) a bird.

I (do) a lot of work today.

She (come) here the day after tomorrow.

She (read) the novel for the last three days.

8.  Rewrite any four of the following sentences filling in the blanks

with appropriate prepositions : 1x4=4
() 1 am very much interested your story.
(b)) The police ran the thief.
() He has no money him.
(d) She takes pride her wealth.
(¢) 1 wonder if you could get it done tomorrow.
(p  Cut the rope a knife.
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(h)

(a)

()

(c)

(d)

(e)

4]

3
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India is rich minerals.

One must abide one’s promise.

Rewrite any four of the following sentences as directed :

1x4=4

Is this the kind of dress to wear in school ?

(Make it an assertive sentence)

He worked hard to pass the examination.

(Make it a complex sentence)

Kindly do me a favour

(Add a question tag)

Atul is the best boy in the class.
(Change it into positive degree)

I shall remember your kindness forever.

(Make it negative without changing the meaning)

Everyone wishes to be happy.
(Make it interrogative)

On seeing the lion, he ran away.
(Make it a compound sentence)

[8]

SECTION-D

(Textbooks 45 Marks)

10. Read the following extracts and answer the questions that

follow :

(a)

32T ENGL

“ Those who prepare green wars,

~ wars with gas, wars with fire,

victory with no survivors,

would put on clean clothes

and walk about with their brothers

in the shade, doing nothing.”

Questions :

(i)

(i)

(iii)

(iv)

What are the different kinds of wars mentioned by

the poet in the passage ? 1
What kind of victory do they achieve ? 1
What should the warmongers do ? 1

Find words in the passage that mean “those left

alive” and “win”. 1

[9] Contd.



(b)
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OR

“The polished traffic passed with a mind
ahead,

Or if ever aside a moment, then out of
sorts.

At having the landscape marred with the
artless paint

Of signs that with N turned wrong and S
Turned wrong

Offered for sell wild berries in wooden
quarts,

Or crook-necked golden squash with silver
warts,

Or beauty rest in a beautiful mountain scene,

You have the money, but if you want to be
mean,

Why keep your money (this crossly) and go
along.”

Questions :
() How did the traffic pass ?
(i) Why did one turn out of sorts ?

[10]

(iii) What are the two things that were sold in that
stand ? 1

(iv) What should one do if one wants to be mean ?
1

11. Answer any three of the following questions in 30-40 words :

(i)
(1i)
(iii)
(iv)
(v)
(vi)

(vii)

32T ENGL

2x3=6

Describe the things that cause suffering and pain
mentioned by Keats in ‘A Thing of Beauty’.

What childhood fear did Kamala Das refer to in her
poem ? How did she hide it ?

What is the significance of the parting words of the
speaker and her smile in ‘My Mother at Sixty-Six ?

What is the ‘sadness’ that the poet refers to in the poem
“Keeping Quiet’ ?

According to Pablo Neruda, what important lesson can
the Earth teach us ?

Why do the people who are running the roadside stand
ask for some city money ?

What increases continuously in ‘A Thing of Beauty’ ?

[11] Contd.



12. Answer any five of the following questions : 1x5=5
(@) How ldng did M. Hamel teach in his school ?
(b) Where does Mukesh live ?
(). What does Saheb look for in the garbage dumps ?
(d) Whom did Gandhi and Shukla want to meet in Patng ?
(e) Who is Derek ?
(  What does Sophie want to have when she grows up ?
(g9 Name the book from where the chapter ‘Memories of a
Chota Sahib’ has been taken.
(h)  Why did Gandhi visit Lucknow in 1916 ?
()  What is the name of the blacksmith in “The Last Lesson’ ?
() What is the “great trouble with Alsace” ?
13.  Answer any five in 30-40 words : 2x5=10
(@)  What lesson do you learn from the story ‘The Last
Lesson’ ?
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14.

(b)) What kind of person was Geoff ?

(c0 Why did Jansie feel sad hearing about Sophie’s dream ?

(d Why was Gandhi impressed with Shukla ?

Why was Professor Malkani’s action of offering shelter

e Malk
© to Gandhi ‘extraordinary” ?

0] Who was John Rowntree ?

What character of the North bank of the Brahmaputra

@ did John Rowntree refer to ?
() Was sahib happy with his job at the tea stall ?
1
(i) What would Franz love to do on that sunny morning
i

instead of going to school ?

f the following questions in 80-100 words :

Answer any one o ords

Describe the bangle makers of Firozabad. How does the
vicious circle of the Sahukars, the middlemen never allow

them to come out of their poverty ?

(@)

[13] Contd.
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(b)

OR .

How different from usual was the atmosphere at school
on the day of the last lesson ?

15.  Answer any one of the following questions in 125-150 words -

(a)

(b)

7x1=7

What are the similarities in the lives of Bama and

Zitkala-Sa though they belong to their respective
situations ?

OR

Give an elaborate account of the celebration associéted
with Uruka, the important part of Magh Bihu.

16. Answer any four of the following questions in 30-40 words -

(a)

(b)

(c)
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2x4=8

What did astrologers foretell when Tiger King was born ?
Who was Dr. Sadao ? Where was his house ?

Who was Hana? What did she notice coming out of the
mist ?

[14]

(d)

(e)

)

(h)
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What is the significance of Bhelaghar?

How did Annan explain the elder man’s action to Bama ?
Why and how did Derry enter Mr. Lamb’s garden ?
Why did Derry go back to Mr. Lamb in the end ?

Why was Zitkala-Sa terrified when Judewin told her that
her hair would be cut short ?

[15]
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1. Answer any eight questions from the following as directed :

(1) How many electrons are there in a body if its total char ge is

l(eallO =@ _ _ ;
<51 <@ 41 o S AR AW 16x107° ¢ 27, (90w s R
(T TIICR?

(b)  Which of the following options expresses Wheatstone bridge principle
as given in your textbook ? 1
(O FAysfs faat \D\liidRii OETe Gl - (RO W T2o9A Sioe

- ! e 2

() &253_; when i, =0
R, 4
_%_:Ei; e i, =0
R, R,

(i1) St ; when i, # 0
R, R, :
BB afw i, #0
R, R;’

(iir) Both of the above express the principle

ST VD! KeEE TIRoco! di
(iv) None of the above expresses the principle.
ST B [{FECl TSB! efep wvee |

- (Choose the correct option)

(% TeIco! qifz Cfered)

and Tesla is a bigger unit ? Write the ratio of 1 Gauss
1

ORI 1 (BEAIR B2l f%ma‘)

(c)  Which of Gauss
to 1 Tegla.

51108 Wi (BT (FHIACH TIeS G52 1 g
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(d)

(e)

(€9)

(h)

32T PHYS

Fill up the blank in the expression Wh = 1 Sy il i 2 1

Wh= — m? = MG 2560 A 9% 49 4
Which of the following options is éorrect ? : hd . 1
weTe Al CFNe BFE wa 2
(1) c? = 2 ——~+E02
2
(i1) < = - 302
Hoéog  Eq

(1ii) Both the above options are correct.

GoSS YL [os2 % |

(iv) None of the above.
2[99 oIS 923 |

What is the angle between reflected and refracted rays when
Brewster’s law is applicable ? 1

SBITT 7 Ay e dfowre S afenfie sfE Aes @l {292

In a prism except the position of minimum deviation there are
values of angle of incidence producing same angle of

deviation. (Fill in the blank)
- 1

fimew Rpfes sz AE 96l fese @2 [pfe @i U@ Sioe
R I AF T (0571 212 73 F1)
de Broglie in 1924 reasoned that nature was symmetrical and that the
two basic physical entities and . must have
symmetrical character. - - (Fill in the blanks)
1

1924 57 % Foifer I SORBIG (X TS MEIbFILS S Wi (70 eigfen
R B G RS G SR 29 R
(=Tl 3% 27 7))
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(1)

()

(K)

()
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According to Bohr’s second postulate éf

: quantisation, the aneular
momentum of electron in the first possibl ’ e

e orbit is— 1
(TR TG 1 S Tl i sz St it
s o 3 \ WD T AT
LETRG GBI (T S5] 95 — :

S
(1) T

RS
() 2
(111) P
f‘

(1v) 2;

(Choose the correct option)

(&% CeHch! 1z Tenaay)

Which of the following options is a correct unit of a diode’s reverse
current ? 1

O GRS (IR0 5 TG GO ARGISTO] 2R ©E Gy

(1) A
(i) mA
(iiii) uA

(iv) None of the above.
(Clwose the correct option)
(=5 Tl A1k Cfve)

The act of transmission of information is

(Fill in the blank)

5 e | 1
O (A [P T | (=71 J12 99 7<)
H,0 is a polar/ non-polar molecule, (Choose the correct word)

1

H,0 &b &5t / st =i | (5% =Prhl 1R BfRa)

[4]

2. Answer the questions /Fill in the blanks from the following : (any tesn)

SO AEPTER ©ed Ssdl/ A 12 2R el 8 (e w=2ol)

Draw the field lines between two charges + Q; and - Q,, when

another charge +Q is placed between them in a straight line.
2

(@) (1)

A+ Q) U — Q, S MBI I M S @5l ST + Q TSRSl
7 =, SN 7o Sere R @RIPIR S 1

OR / %<1

, (ii) Calculate the electrical force between two 1C charges placed
100em apart. Given g, =8-854 «1072Cc?2N 'm 2. Mention

two smaller units of C. 1+¥atYo=2

AT 100 com TREMS A ol 1C SR HIers 4 (e <=
e <=1 | Tl Wieg gy = 8854 x1072C* N m 2 | C-¥ 75l A%

G T 4 |
(b) (i) Are the following diagrams equivalent ? If yes or no, calculate
the equivalent resistance between the points A and B in the
figure (ii) when the mid-points of the resistances are connected
by a conducting wire. Tot1Yo=2
e o 7ol ATeene 2 A &g Al 9%, BF (1)< A i B 7 96
TGS FTesT) (@ie Afle] 5lele] <= (AfSal ([ YhiE 72 34 1 QT
ARRIEE 7ge 461 2| /
40 i 40
—
A5 B A T
4Q 40
(i) (i)
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(c)

()
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(it)

(ii)

(1)

(i)

OR / =1

What will be the total charge g in a conductor having length L,
diameter D and electron densrc} n respectively ?

mwmﬁam&m I D SN 2004 WG n 2, vfm@m'
A b SN g2 2R e 29 2

Explain why a potentiometer is suitable than a voltmeter for
measuring emf of a cell. . 2

(S RY-bEe o1 R 9Bl S oRBReE «bl AGHho o & e
@ TAGEIET Tt 4 |

OR / 141

A 10m long potentiometer wire has a resistance of 18 ohm. If
the two ends of it are connected to a battery of 5volt, calculate
the potential drop ‘per unit length with unit. Given, internal

resistance of the battery is 2Q. 2

10m Fi9E GoiE SGAHS EoR SR @14 18 ohm | A B9 [ 7o
= volt-a @BIR1 GOIE TICS TG T =, (908 BRulEH AfS @o
e (@l ed 2ien GRS (0 1] =l | T2l SR (0191 ST
20 |

Static charges produce field, while moving charges

produce — ——— field. 14122
fga AT cva % T, AEETs Ao
S cwa AP IR -

OR / @133

‘Write the analogous equation in electricity if in magnetism it is

expressed as 7 = mx B and mention the unit of m. {+1=2

2 S b1 A 7 =17 x B T, (0% Riie R Qi wegered
i & 73 BTl 9% M q G5 Tzl 41 |

L6]

(e)

()

@)

(i)

(i)

(i)

32T PHYS

Can a changing magnetic field exert force on a stationary charge ?
Also can a moving charcre exert force/torque on a stationary
magnet ? Try to give your answer by a brief statement of your
OWI. 1o+15+1=2

QL ARSI DT (Fa GBI B ] SIS S 61 Ao 5
AR 2 ] <5l F61 /5 20 SRR 2AEE 2 9Bl 53 e 91T -
(OINE Ul Wace &Fe <54 |

‘OR / 5241 -

In a rainy season you are running with your umbrella opened

" in a place where the horizontal component of earth’s magnetic

field is 0-26 G. If the length of your umbrella is 80 cm and your

speed is 20 km/ hr, calculate the motional emf developed across
its shaft. 2

TR 99 Wuﬂm%ﬁsaﬁm@ﬁfaﬁﬂ% GIERQERIES
THES (Fd ST GAIR T 0:26 G | 3 (ONIF QSR 7
80 cm S (O %fo 20 km/ hr 22, (9% 2fO0IR veTES 42 51

e TEd (X[ SO Rye-biers e sil <1 |

A plane electromagnetic wave is propagating in space along
x-axis. If the magnetic field component of the wave is as given
below, write an expression for its electric field. 2

B, =2x107" sin(kx-ot)

B! FeE ReTReR Al SRS x-Sre furdd wiaee (=
TRRIER TR Gl @S R o 1 =, (9% SRS
RR Beiiceicnl i |

OR / 92491

layer in the atmosphere plays a protective role, and
hence its depletion by gas is a matter of international

concern. 1+1=2
AT A A7 G Al 6] 5 B Sl

oizel SR ifzrm, SR G

0IC0] SEEoF HEE F (2

(%3 AR @ WK SIS
2z AR

[7] Contd.
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(1)

(it)

(i)

(i1)

Rays parallel to each other but not parallel to the principal axis
of a concave mirror will meet after reflection at the
Draw a diagram in support of your answer.

A =2
HAFPRE AN [T€ ALF T TEAF @il IR @i S[es
AT @fswiTe (Fai 7w © fifeT® 29 | (oIE Tee
FReTe @b oa ST <= |

OR / =41
Write two conditions for a ray to suffer total internal reflection.
asil=2

B! = SrerEAle 74 afozr 94t ares @Rl 75 5 fesl |

How many processes are there to produce induced emf or current
as mentioned in your textbook ? If an area A is placed in a

magnetic field B so that the normal to the area makes 45° with
the magnetic field, what will be the flux through the area ?

Yat+135=2
wifae FgevEe @ A Fge Teoin SR (ONR AEe @25
siziod 2l TEd ©I0Z 2 I G pFS (Fd B9 (&Il G (Fase

A QA P =1 (20 (@ 29[ FH2 (R 910 45° (i FE, (o1
Crad SIS 71K (2 @R FieR S T 29 2

OR / @14

State Lenz’s law. Name the other law of nature that it obeys.
1+1=2

(e 0! BTl | 4 S GRRICDH 3 3 i B o

Write the mathematical expression of the postulate th

i at an
electron has to strictly follow in order to revolve round the
nucleus. Name the scientist who proposed it in 1913 1+1=2

el R U BRCFE R At 2 2 e Wi

sfererTal FRRER AT a@R #1913 e S
SisiECoal REiEad T FH )

[8]
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(i) Calculate the energy in joule that is equivalent to 1 MeV.

(i)

(1)

(i)

(1)

OR / G241

T T A 1 Me V= 771951, Si91 <51 |

The total energy of an electron in the first orbit is -13.6 e V. Does
it mean that— _

(A) the electron is bound with the nucleus ?

(B) = energy will be required to remove the electron to infinity ?

=2,

B! FFHLS A bl FEREE 0 *IE ~13.6 eV | FARNE G051

JEN20R IS ([ —

(/{)I ETREAC] e EHEE Giee Sk 2

(B) TGO SRR el Siesi2 Fate 20 #ifeq driee 29 2
OR / T2

The transistor works as an amplifier, with its emitter-base
junction

biased and the base-collector junction
biased. In this state the transistor is said to be in

state.
ARBIE-('R GIETS ARZ O (I FEES GRS
- AR el SR (GIGRIE s el i e | 93

Yorkdiohil=2)

TRENS (GG CERACIE B s e el
’ OR / @1%1

What are logic gates ? Draw the symbol and write the truth
table of a NOT gate. 144 16=0
e (5170 [ 2 NOT #ifers (5159 &SI o2 Siifes Oig 52 (Bfe &=l |

What do you understand by the terms signal and noise in

communication system ? 1+1=2
el TIES IS B Tl e 7 g 2
[9] Contd.
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OR / 9241

@) The approximate‘bandwidth required to transmit

(1)

(i1)

(i)

is 20kHz and to transmit _ is 4:2 MHz, 2
(2Fel <o A TS Rl #ATEd dm 20kHz SIS
(el e AE 42 MHz |

Show that in a particular way of combination of capacitors the
equivalent capacitance C is expressed as given below and name

the particular combination. 2+1=3
G e S el |
(e @ 4NN I RO FTelS T9e) IRPgT @7R% CF Woid
R S 1 IR G oo | BT 1| 5 B R DR S s s koo (AT B P R
C_C1+CQ+C3+ ........... H(CL
 OR/ 9341

Mention at least two factors on which capacity of a capacitor
does depend. Define the unit of capacitance. Find out the
dimensions of capacitance using the dimensions of charge and

potential difference. Vot 1ot ] +1=3
wifs TS YD TS U By T4l 7 7517 SoRS ARG ARy Meq
(A | 4T G FiSe! Tl | i Sl feas sial 992is SR giaees
@) el <= |

Show that current in each resistor of the following diagram is
Zero. 3

@medl (@ oo Al DAt &lfeb! ([I4ES eEin @i ifes Fyyod vifmci

I I
A SR SRS Ve a7 D
4 i T

i
|
1100 109'

16 We,

i &

HSVGSVFSVE

[10]

(c)
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(i)

OR / @3l -

. (i) What do you mean by mobility of mobile charges ? Whether it

is positive or negative. Show that mobility is expressed as given
‘below, where the symbols have their usual meaning.
1++1Y%%=

Y AGETO! J(ETCET @l 2 2 499 F (AN 2 (TS (@ FoeTS
woTe AN 2 1 28, TS IS ALTOAAR A S =

FR2

sy
m

Ej and Bk are electric and magnetic fields respectively placed
in a region. A charge g is moving with velocity pi into the
r_egion. If Fr = —IT“B, show that v = % :
of E and B fields.

Name the arrangement

ZH1=8

Ej 9IS Bk TG (@i Oi% G- (Fa 13 b S Zi7a =
(202 | ol 94 g, vi Wﬁ@ﬁ%ﬁﬁ@@?-—wwiﬂ‘%ﬁ | <ife

Fr:“FB

Ww%w

rﬁ"i\a?ﬂ T v :% | E 9% B-(5Fd 1€ ASIOE 2

OR / @241

What is a galvanometer ? A galvanometer has a resistance of
50Q. If across its terminals a resistance of 5Q is connected,

calculate the fraction of current that flows through the

galvanometer. 1+0=3

(sl o 6 2 @bl (sFTeSe RS (S S0Q | A WK 72 TE
e 50 @Y AL T R, (S8 (OIS FERGE e 30
saeg TR Sl @iFiiRe 79 9l 5 |

Contd.
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(i)

What is mutual inductance? S, and S, are two long coaxial
solenoids of radii n, and r,, where r <r,. S, and S, have
equal lengths L. If n; and n, be the number of turns/ length and
I, be the current flowing thrdugh S,, find an expression for

mutual inductance M;, of S; with respect to S,. 1+2=3

ﬁ@j@%ﬁs? S, S S, UO! GREFE Kge el R S 7, 5‘61
S, SI% S, I ARG ST <7, | G| FERE 07 11 I 1y o
1, ] A0S &S G0 (TR A1 RN e S, T et 2ifRs e

I, &, (908 S, ACF S AGIEHT ST M, 3 <Ol e
Aol =51

OR / @134}

Two concentric coils having radii .
gradii r; and r, are placed coaxially,

where 1, <7, . Obtain (pression for '
< an expression for mutual inductance I 12

of the inner coil with respect to the outer coil. Def

1 1 >
inductance. ne self

2+1=3
i SIS T SFITAS H01 ] R P GRS e <
5 Ph I o
=R, TS 1y <1,y | AT PG ACATT o1 TSI erojiamre
QT M,y T GO LSRRI R =1 | i @i sl el |

Arrange the following words, so that it becomes a meaningful
sentence.

”A parallel plate capacitor of very low frequency cannot pass
through an alternating current.”

Write in brief about the need of displacement current

1‘}‘7:3

woTs frm) PR <ol T Ay o

o} O N FICE I =40 459 =S} 2z et i
29 @[ '

TR oiE] SRHIS RS THSS 5I0E B |

1

[12]
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(if)

(i)

(i)

(1)

OR / @241

Whrite M (Microwaves), U (Ultraviolets), R (Radio waves),
V (Visible waves), X (X-rays), I (Infrared waves) and
G (Gamma rays) in the order of decreasing frequency.

Give a short description of any one of the following:  1+2=3

(A) Sky waves - (B). Space waves

G TS M (28 ), U (Sfem@gaiat), R (&os w=%90),
V(A wka), X (G, 1(SReeze ) i G (I SIDIE
ferl | _

o1 Al RG] OIS SoTe B il |

(A) SIHE oSkl (B) RIS WAl

A beam of light converges at a point P. If a lens is placed in the
path of convergent beam at a distance of 12 cm from P, at what
point does the beam converge if the lens is a convex lens of
focal length 20cm ? Draw a neat diagram of it. 2+1=3

(Pli=d IRPlg @bl [eE 7 P-ta1 Sifeeie) 2ozl A P-RgUBReE
10 om 7EES, SRl AERS FEA2S 20 em FFR WG @<
Ter T A 11 2, 090S Ao FMEE O SfeAS] 29 2 2419
51 +iFEE b v Rl :

OR / &%

State superposition principle of waves. Mention at least one
example of coherent source of light. What will be the phase
difference between two light waves, if the path difference
between them is 2-547 14Y5+1%=3
Sacsid SEIAIACE M1 Bl | (ol Aiqw SO e PG o
Srreadl el | A G0 (AT ke e A Al 254, (90T

ﬁ%ﬁsﬁ@@mﬁoﬁﬂ’aﬁﬁsﬁmi‘a?

gy of an electron is 120 eV. Calculate its

kinetic ener _
The 1Y5+1%5=3

momentum and speed.
451 BT Al e 100 ¢V | TR T W B il
2eTR0S

(13] Contd.
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: OR / 2t
Write a few lines on any one of the following : 3)
(A) Wave nature of matter i

oo W@l e Gbie SRS bt sl ¢
(A) mifs o=l 2o
(B) (Cofene i Gl #1sr (bas Sk feiciem) |

Name the formula given below. Using the . value

1-097x1077m!, if needed, find the wavelength of H_ line
Arrange H,, H, anid H; lines in the spectrum of hydrc:gen 11;
the order of decreasmg wavelength. Yot2+15=3
Oe FACOIE A T | T S =, 1.097 x 107 mt WW
R H, @amm@aavmﬁﬁ@wmégmwﬁaﬁm H;, m

H, G20l GugPs Saeimd @6t esE |

A (L_L
/1 22 n?

OR / w1%a

- -0Cesses : ' )
Name the processes of the following nuclear reactions -

g Ava Riarmd T fFra e

(A) 2By >3 Th+;He

1ox6=3 .

2 32 LT
(B) ?gPalOS-FG—FV

(€ P> mte

140 94 ~_. 0
' ];14-{235U-—>54 Xe+388?+21?1
(D) o 02

B L S i H e R e

(E) = R Eln R

[14]
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0

' resistor.

Draw a neat and labelled diagram of a full-wave rectifier
indicating the primary and secondary of the centre tap
transformer, two junction diodes, one load'resistance and a
capacitor for filtration of ripples. Moreover the wave patterns

after passing through each diode and also through the load

1Yo+ Yo+ 1o+4=3

51 (5 (57 (G 30 S (Tl A, $B1 SRR SRS, <ol
S (@I iR TRR DR e bl 4k Bz e @bt Aokl

s 2R R | TN TS TINT YO A9 WeE i OIS

(it)

(1)

B e e i s elle | SIRCs Ko B s e e el

O_R/WW

Describe any one optoelectronic junction device mentioned n

your textbook. 3

CoITR AToyo{[ae 2=l RePI] ) RS BCETH AP G (F 1T 904l
4 |

‘What is an ac generator ? A coil of area A , number of turns NV
is rotating in a magnetic field B with steady angular speed @.
Show that the system generates alternating current or emf at

any time . Draw a graph of & vs t. Name three types of such

generators. Vo+Vo+ Vot 1o+3=5

RS oAR Tl fF 2 A CRATT SR N ARIE <451 Pl @

556 (A0 O e ww 1R i@l (eRl @ ARSHIE R

serae Aol dAR RS, DI J6T TP B | £-F ORI £5
Cﬁ*!@%ﬂﬂ!tﬂm@%f@ﬁﬁ@@?%&mmmﬁml |

Contd.
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(1)

OR /=241

Define rms value of ac. Show that the ratio of rms value of ac
to its peak value is 0-707. An electric bulb which operates at
12V dcis connected to an ac source and glows normally, whaf
would be the peak value of the source ? 1+3+1=5

SifFS] eIz 91 F5e SFE Tl okl | (4edl @ AR adize e
<9I A T R A = SGAS 0-707 1 12V deo i
5] A 45| ARKS] 2T T (100 AL SR 3 AMRTSIE Gie
T | TSGR A T [ o 2 ‘

OR / 7241

Discuss ac voltagé connected to a resistor (R). When an inductor
(L) and a capacitor (C) are connected to ac voltage separately
then the currents in both the cases are expressed as given below. .
Write a few lines on each of the following. 24134 11h=5
a5l @EF (R)-GE 100 IS A0 [ F9A7F SIceival 3w | AT
F2it (@foat <l T (L) S <6l 41 (C)-TF Gts <o sffRae)
Foq wecaisl 991 29, MEAE (a9 2R Oee WM el 5=l 3y
2B G7RS FRAREACE 141 | |

V=1 St (wt—%)'

B )
I:ImSIn ((!)tn 2

Find out an expression for fringe width i_n_ ’Yolung’s double slit
experiment. Light of wavelength SQO nm is mmdem}t on two slits
which are 1mm apart. If the screen is Placed ata dls'tance of 1 m
from the slits, calculate the fringe width of the fringe pattern

formed on the screen.

T3 e AT Al (@R G emHEiR [ F9 1 1mm TR
70 fowa @#[@® 500 nm ORI (+ied Ao (e | 4 fwmmm)
9{77?1?3'}&:@ 1m =, (90% e 7R 2@ 2 26 @4 st =)

[16]

3+2=5

30T PHYS

OR / &34

(i) When the double slit in Ydung’s experiment is replaced by a

(111)

single slit, name the pattern of fringes formed on the screen.
What is the phenomenon due to which we see colours when a
CD is viewed ? Mention at least one difference in the fringe pattern
observed due to interference and diffraction
phenomena. Describe a simple experiment by which you can
observe the diffraction phenomenon in your home. ,

1+1+1+2=5

(o 2T ST R-fowd e bt fow <y 41 =21 AU T
2! ~Ho7TeT T % 29 2 @font @ CD G w16, o qeret =)
RACET ~ANS | G2 2RI 7 2 TR S R /RG] 7ore
A Rl AT e @S e @bt ARy S | 9w <6
PASITR 3071 1 RIS S Sieiaee) AAR<a 560w iemee] 5 #1341 |

OR / &2/

What do you mean by polarisation. of light? Name the law
which gives us the intensity of emergent light when passes
through a polariser at different angles. Mention two ways of
observing polarisation as described in your textbook. State
Brewster’s law. Find out the ‘Brewster angle when there is
transition of light from air to glass. '

( Hints : tanl-5=0-026, s_inl-5=0-026, cos1-5=0-99,
tan-11-5~56) |
1V2+15+Yo+1s+1+1=5

(Al TS e ol & 3@ 2 e 142 bl eSS NS
fafem (IS AN (X @[ AR Slgor AR fes o 7 & ¢
(O Alefas 39T =i 701 #ffs a1 R 95 HgTe SRy
sifaaal e A 2 A | SR 0B B | IR ot ey
S{iTical ARE 900, (1R ORI SRR (@I e %9 |

(“@ﬁ*@; tan1-5=0:026, sinl-5=0-026, cosl-5=0-99,

tan-11:5~56)

[ 17 ] Contd.
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Write an explec,sxon for mass defect using AM, Z m, ,; A, my

and M where the symbols have their usual meaning. Define

binding energy of a nucleus. Obtain the binding energy in MeV

of a nitrogen nucleus. 1+1+3=5

Given,

m(2*N )=14-00307u
my = 1-007825u

m, =1-008665u

lu =931-5MeV/c”

s5apa il 2K = FEFO AM, Z, m,, A, m, D% M I<2R &
S it eI ol | ORI SEeies kel il | bt ARG Te

SofERns e Mel~o e 4|

fral =i,
_ m (N )=14-00307u
m,, =1-007825u |
m, =1-008665u
Ju =931-5MeV/c?
OR / &%l

Draw a schematic labelled diagram of a nuclear reactor based
on thermal neutron fission. What is a moderator ? Give fwo
exanﬁples"of moderator. Write a few lines on controlled

thermonuclear fission. 16+ 1+ Y%+ Yot 1%=5

it FigE Bl e Rearen fefes Fes Reaes ool wivf ba
< | s o 2 Fanies 70 el il | e s e
gogs (EEAEmE ol VA AR

[18]

32T PHYS

(111) You are given two circuits consisting NAND ¢

OR / @351

gates as /
below. Fill up the truth table for each. Are NOR gates consf];:\ 1;
¢ eC

as universal ? If Yes or No, answer why. 2+2+]=
=5

NAND (510503 91f3% 751 36471 wete Greaica cofsies (7! 257 | G-

(BT 73 247 1| NOR CI'S AferT
1 (9’0 2w
oS 9, Tew B | R 2 'TQTI'?&‘HI"J,

A o—————]
o [ oo i

(@)

5

BAE
=6 5
0 1
fineel 0
1 ] 1
(a)

X W

[19]
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CHEMISTRY
(Theory)

Full Maﬂcs : 70
Pass Marks : 21

Time : Three hours

The figures in the margin indicate full marks
for the questions.

General Instructions :

(i)
(i1)
(iii)
(iv)
(v)
(vi)

(vii)

All questions are contpulsory.
Marks for each question are indicated aguinst it.
Answers should be specific and to the point.

Question numbers 1 to 8 consist of eight very short
answer type questions and carry 1 mark each.

Question numbers 9 to 16 consist of ten short answer
type questions and carry 2 marks each.

Question nunibers 17 to 25 consist of nine short answer
type questions and carry 3 niarks each.

Question numbers 26 to 28 consist of three long ansruer
type questions and carry 5 marks each.

1x8
2x10
3x9

5x3

Total

Il
(0]

20

[l

27

=il

70

il
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A metal crystallises in a body-centred cubic structure. If ‘2’ is the édge
length of its unit cell, ‘»" is the radil_Js of the sphere, what is the relationship
between ‘r’ and ‘a’ ? , S 1

b1 419 TR T (DTS TS 28 | F 6 (PRIGH MO 0 =
121 5o | 3 T T B o e o S el G T SIS 7T AEe T [ 212

Arrange the following compounds in the increasing order of their boiling
points : FOAS 1

OO GRS ﬁﬂ@%ﬁ%ﬂﬁ@@?ﬁ@@@'ﬂmz

CHs — CHO, CH3 — CH; — OH, CHz — CH, — CH3

Write down the formula of Tetraamineaquachloridocoba]t(III) chloride

1

(BOITZ A {175 (111) 31299 915 e Fri |

Write the [UPAC name of the following compound : 1

wee @ @96 IUPAC Fi5 o=l ¢

CH = CH — CH, — OH

What will be the impact on K¢ when the molality of a solution is.doubled ?

: 1
Bl T TG Feo qpieE K e & eer s

Which is a stronger oxidizing agent — Bi(v) or Sb(v)? 1

Bi(v) W% Sb(v)3 foos® @I @R >l Siee 93 21 2

pKp of aniline is more than that of methylamine. Why ? 1

R2lReasizae e GREFT pK, I W9 [ @R =2

Which of the following compounds can undergo Hell-Volhard-Zelinsky
reaction ? ' ) 1

were WAl (HIE! (@9R (-8 SRM-(Sen % (A ?
(i) Benzoic acid

(GO RERGIPI
(if) Propanoic acid

AR b

‘The freezing point depression constant for water is 1-86°C m~L. If 5-0g of

Na,S0;, is dissolved in 45¢ of water, then freezing point is changed by
3-80°C. Calculate the Van't Hoff factor for Na>SO;. ’ 2

S 21 SR &9 S (207 1-86°C -l | At 45¢ #Mi1® 5:0g Nax SOy
waive 391 =, (90% A 3:80°C o1 SRR | GfSd NapS0,-3 A (S
7 @O T [efa w4t | |

OR/ G241

State Henry’s law. Why do gases nearly always tend to be less soluble in
liquids as the temperature is raised ? ' 2

@RS CH] T 91 | GFee! fE T (TN AT S9eTo (< e % wAfuice
TqygS =7

32T CHEM [3] Contd.



10.

11.

Calculate the pH at which the potential of hydrogen electrode will be
0-059 V. ‘ 2

23T (e Rpjsald Rew@ 99 0059 V. 26 pH T {0 29 fefit <641

OR/ 341

The chemistry of corrosion of iron is essentially an electrochemical

phenomenon. Explain the reactions occurring during the corrosion of iron

in the atmosphere. 2

SIESERRCE mwiﬁ_ QHS%QWWM?W‘WW @R

TS REIeere FRAe [iwaeas i w4t

Why H»and Og do not react at room temperature ? Write the rate equation
for the reaction A, + 3B, — 2C, if the ov-erall order of the reaction is zero.

1+1=2
H, S O, (1 9% S 5 & 7o@e A, +3B, - 2C Rigass
Sl sifo F@ee! o1l afuee 7)el Riesieo! <=5 = 21|

OR /@241

A first order reaction has a rate constant of 0-0051min™. If we begin with
0-10 M concentration of the reactant, what concentration of reactant will
remain in solution after 3 hours ? )

<5 22 gvE [fERE e & 9 2 0005185 1 S 010 M

i AMipeIC] R A, (908 fofil I0I AIZe Taibis f siper R
Afsg 2

32T CHEM ' 141

104,

Answer any two :

Rz 7519 Tea Bl 2

(1) Write the mathematical expression for the Freundlich adsorption

isotherm and draw the graph logfc— vs log P- 2
“y

R SR SR AR F=AC! 71l B log = vs log P¥
y
@ i |

(b) * How do emulsifiers stabilize emulsion ? Name two emulsifiers. 2

RESE O RIS OGS I 2 70 TR qoea A |

(c) Define shape-selective catalysis. Give an example. ° 1+1=2

@@%%W@ﬁﬁﬁﬁ@ﬁﬂi@%ﬂilﬂmm&quml

13. Why is it that only sulphide ores are concentrated by froth floatation
processes ? What is the role of depressants in the froth floatation process
of dressing of ores ? : 141=2
) Tl AR AR (R RTRT SR R HAlge T W7 (P BACH
e GIeaR ARSERITS TRl T g 52

32T CHEM ' ey 3 Contd.



14.

15.

Answer any two :

fRizelc 7o ©ed a8

(@) Ti** compounds are colourless in aqueous solution but Ti%*

compounds are violet coloured. Explain. 2

SR Tit G IR, R SR Tid* CTIIe <9 e | <t
1| |

(b)) What is meant by “disproportionation” of an oxidation state ? Give an
example. i 5

GiRel O] B SFRFAFIE q01 W 2 G5t Twizsel |

(c) Actinoid contraction is greater than lanthanoid contraction. Why ?

o

ETETNG FALHIOTOE AfFH28 FACHv [z | a2
(1) Write the IUPAC name of the following compound : 1
Oold (IR [UPAC =19 &l 2
[Pt (NO5) (NH3)BrCl]
(i) How many geometrical isomers will be possible for
[ Pt (Py)(NH3) Br Cl] compound ? 1

[Pt(Py)(NHz) Br CI] (11 SoifsroT st sl orgam sl e

32T CHEM [6]

16.

OR / =3
Write the hybridization state of central atom of the following co-ordination
complexes along with their magnetic properties. 2
e S G5l (IR (R RN T SR S Feite FRed pEe
aqq e Bl

[Cu(NH5)4]* and (3%) [Ni(CO)]

What is the prime cause of depression ? Give an example of antidepressant

2
drug. . _
Faser 24 FEd T2 afeRuderma) 84 <oF TriRee |

OR / =41

What is the function of a Tranquilizer ? Give an example of a compound
which can be used both as Antiseptic and Disinfectants. 2

PR A GTRLNRGIC [ I 2 <ol e Srzael e, R TR el
% TS e wE| _

17. Mention the type of Semiconductor when S doped with P. A solid
compound XY has NaCl structure. If the radius of the cation (X") is 100 pm
then calculate the radius of the anion (Y7). 142=3
i PGk FRE (O SPRE SIEHARRID) oo 23 A 71| €1 F Gl
XY d NaClF 419 itz 3 @A (XH)S T 100 pm 2, (908 G R
()3 g e |

32T CHEM. [7] Contd.



18.

OR / =<1 7

What are semiconductors ? How electrical conductivity of semicoﬁductors
vary with temperature ? Give one example of intrinsic semiconductors

| _ 1+1+1=3
SARRIR) 2 SEARAIRIERT Rgs AR Tee #ioie G ~ifRaes 22
@M@ﬁ%w{ﬁﬁa‘@ﬁm <> Trzsd fum |

In the el.ectrochemjcal cell ;
Zn [ ZnSOy (0-1M) // CuSO4 (0-1M)/ Cu-,

the e.m.f. of the Deniel cell is E;. When the-concentration of ZnSQ0, changed
to I-0M and CuSO4 changed to 0-:01M, the e.m.f. of the cell changes to E
Establish the relation between E; and E,. é

92 Ryye IR (G
Zn/ ZnSOy (0-1M) // CuSO; (0-1M)/ Cu ,
e f. ITH Ey T | GRS ZnSO, T A6S! LOM = S CuSO, 3 2i15t 0.01M o

el 91 R, CPRGH e.m.f. mEg‘c‘aﬂaﬁ?@uﬂ%ﬂm?E]m E> T oS
ST AN 4l 1

OR / <231

The molar conductance of 0-1m aqueous solution of NH,OH is
9-540hm=tcm?mol! and at infinite dilution molar conductance is
238 ol Yenimol!. Calculate the degree of ionization of ammonium
hydroxide at the same concentration and temperature. 1)

0-1lm NH4OH T&i IR B sAfFifzeE I 9-54 olim~' cm®mol~' ¥T% SN
G IVIIGIE] SfRqifzeE s = 238 ol cniPmiol ! | G STl S Sieeie
@ s FEEHRed [EeE AR T T =) '

32T CHEM [8]

19.  (a) Definé molality of a solution. i
Bl T| AeEferos Al |
" (b) State Henry's law. At the same temperature, CO, gas is more soluble
in water than O, gas. Which one of them will have higher value of
Ky? - 2
(e At Frl | G TR ST® CO, (T FRTROl O, (oIZOCS
Sfee | (B! (71=d Ky I T @R 212
20. Decomposition of HgOg follows a first order reaction. In 50 minutes
the concentration of H>O» decreases from 05 to 0:125M in one such
decomposition. When the concentration of H>O» reaches 0-05M, what is
the rate of formation of 05? 3
H,0, 3 R Rt 2i2m @ &g | 20,3 5ipet 50 &5e 059 -t
0-125 M 51 <031 | GRRAT Ho0, 2115l 0-05M 11, Cofeal 0,7 Seaiivers 23 et
Bl .
OR / G241
Show that the integrated rate for a first order reaction K=o Pis
. R
2 SOSzog[]O. 5
t [R]
oredl (3 22 @R RE R P 3 AR SeReeer el (R
: R
2308 Iog[ bo |
t [R]
32T CHEM [.9 ] Contd.



21. What happens, when — (any three)

1+1+1=3

& 5, fenl — (Rewrer AR

(a)

()

(c)

(d)

32T CHEM

P4O;q is treated with dil. HNO;
&g HNO5 3 &191S P40, R 3

Cl; is treated with hot anld conc. NaOH

Sil6 NaOH = 5% Cl, Rt s

Reaction of ammonia with excess Cl, gas

S ARSI Cls oieg w1 g R [

Orthophosporic acid is heated

GRS AfbT Tes T4 =

Write the chemical reactions for following transformations : (any two)

1+1=2

mmmwmmﬁm(mm

(1) Benzene to Phenol

@ emR 21l e

(1) Toluene to Benzyl alcohol

Tejend #El ([@ese] o ae

(iii) Benzene to Diphenyl
ERGmT o[ GlRReIE

[10]

(b)
23. (a)

(b)
24. (a)
32T CHEM

Why aryl halide undergoes electrophilic substitution reaction rather

than nucleophilic substitution reaction ? 1

Gl SIERINEERIRE

Identify A and B. | 2

A 9% B-3 foaie 41|
OH

NH,
NaNO,/HCL  * , bl U
0-5°¢C :
%
Write only the chemical reactions of the following : (any one) 1

FrafiRes AiE @<e IR Jfea &9 8 (R 96r)

(i) Carbylamine reaction

aﬂﬁ«%ﬁﬁﬂﬁf‘@m

(i) Hoffmann bromamide reaction

Give an example of biodegradable polymer. 1

SRR eI FEraial] GBI Swiesd |

[11 | Contd.



(b)  Arrange the following in increasing order of acidity : 1

(b) Match the following correctly : 2
| | SERE AT SIEPeR U e A 3

iihiélia\ﬂtﬁéisl @w ACSIEl 8

_ . OH cH,
Polymer (I Monomer (SFCAE) ' o
a. Natural Rubber i 1, 3 Butadiene (1, 3 JoIGifEe) + : |
(@IFfos =) Styrene (i2{F) | '
it | AR ' AT O NO,
, . _ CH
b. Neoprene ii. 1,3 Butadiene (1, 3 I5ITIfEH) +
*fa ylonitrile (<erize 125121 ‘ - -- | -
G : ST 0_1) 26. (1) What type of bonding helps in stabilizing the secondary structure of
. proteins ? __ 1
¢. Buna-N (34i-N) iii. Chloroprene (' 2)
' N & qEEE @ et A5 R FRACE TR FE?
d. Buna-S (34I-S) iv, Isoprene (TN3% f2) it
() Answer the following questions : (any two)
25. (a) Write the chemical reactions for following transformations : (any two) | wefo fral eSS T firl & ( fﬁ)
' 1+1=2 '
(NCNT ARSI i <HiCeT Pt RiiEm &2 ¢ (R %G1) l (). How are vitamins classified ? Name the vitamin deficiency of

: Ivy. 2
(i) Benzyl chloride to benzyl alcohol WhichCaHSE s i

SO EG e P RG] _L<1-4eﬂ?éc1'é4c*1<p’={?1 : R @ T o 791 w2 & fenfe Tere I Fife
' ' i il T, i

(ii) Methyl magnesium bromide to 2-methyl-propan-2-ol

A GG R R e R i | (i) What is glycogen ? How is it different from starch ? 2
(iti) Acetophenone from phenol ' o o BES 3 (@O AR

(i M o WG| PR eSO

Contd.
32T CHEM [12] 32T CHEM [13] ! onfe



A7 ()
(b)
32T CHEM

(i1i) Name the protein which is present in hair. What type of protein
~ is this? ; - 2

piete Al @b &KaE i il 2 @Rl (i 2o

Draw the structure of any one of the following : 1
oeTe GIHRS [AepieAl @FiF 15N Sk < 5
(i) Chlorous acid

Fi | G D

(i)  Sg

Answer the following questions : (any two)

wee Al eiEIee Tew fEt ¢ (R o)

(i) Are the bond lengths of all five P— CI bonds in PCls molecyle
equal? Justify your answer. 2
PCl5 G (5liTo2 ABeE P— CL J %W O 7919 282 oo
Tead ArE I )

(if) Explain why HNO, behaves both as oxidizing as well as reducing
agent. 2

HNO, @@ 58 @iss o= Reiess =<l qeaibis «f o, <z = |

Gii) When HCI reacts with finely powdered iron, it forms ferrous
chloride, and not ferric chloride. Explain, why ? )

fifz &fS eizaes F1e HCl @ e SR cram gai2om ey o,
@R FaRe T2 [Fe i 54

[14]

28. Complete the folllowing reactions :

RS ReaiEE T2 <= 8

@)

(i)

(ii1)

(iv)

)

32T CHEM

CH,—C— C—H

O

Conc. KOH

Hg2++ H2304

CO, HCl
CuCl

CH, — CH — CH — CH,COOC,Hj

O

+ |Aglven]y | ———

i. DIBAL-H
ii. Hy,0
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Answer the following questions : S 1x10=10 1 () Find the order of the differential equation
oY PARIRT Tel T ¢ a*y 5
| = +sin(y”)=0.
X

(a) Give an example of a column matrix which is also a row
matrix. ( .

5
dy y "y
<5l TB CTeRRS Tuid fral R =19 cieees =) dx4J + sin(y”)=0 et FNABR T fiefe =41

(b) “Diagonal elements of a skew-symmetric matrix are always ]
zero” — Why ? _ (g) Find the principal value of sin™ (ﬁ} .
“Ran-swfie cieress [R3f (IR wiw =9” — =2

sin™ (%] - F YN Bfereat |

() Let f(x)=[x], where [x] is a greatest integer function and

g(x)=x. Find the value of (fog)(-%).
(h) Fill in the blank :
@A f(x)=[x], TC [x] TA AT W8 FTW AT g(x)=x. AR 512 o7 =4 2

(f o g )(- 1)< W= Tfereat|

. 1
lim —=
x=»0" X
(d) Differentiate sinx with respect to e*.
e* -3 AITF sinx - TS GAedl | () What is the direction cosine of X-axis ?

X-erg fpaiiess sl ¢

2
(e) Write down the value of £ |x|dx. () Let A and B be any two given sets. If f:A—> B is a onto
3 | » function, then find the range of f.
2
I|x|dx_qsnﬂﬁr&nl £ T A OR B R go1 72 1 I f - Ao B GBI SRS TR T,
2 (O 1 AR Tivean |

32T MATH [2] 32T MATH [31] Contd.




2. Define an equivalence relation. Check whether the following relation
R defined on the set of integers Z is an equivalence relation or not,

where R = {(a, b)| a - b is an integer}. 1+3=4

SgETS!l FTFI K 7l | 7 -9 FWwRT o IR R (B STgeel TF 20
T AT TN, TS R = { (a, b)| a- b Bt WS A }|

OR/ 934

Show that the function f:R—> R defined as f(x)=2x-3 is

invertible. Also find the inverse of f. 4

(YSA @ f:R—>R-S FRBIA [ (x)=2x-3 TR0 AfStemana -3
aferarme Tfereat |

3. Show that a4
s @

13 _ sin™ 8. cos™ 84

s 17 85

OR/ Gl

Solve the following equation : 4

CoR ATPIECO! AN F 8

2 tan ! (cos x) = tan ™' (2cosec x)

32T MATH [4]

2 3 10
‘yﬁ A= and I= , then find the value 2 and u
12 01

such that A2+ 1A+ul=0, where O is zero matrix of order 2.

2 3 10
rrﬁA=[ }mz:{ J@,m A R p -9 AN Sferedl S
1 2 0

A2+ AA+ul=0, TS0 (TR 2 TS CTeT |

OR / Gl

Determine the value of a for which the system is consistent. 4

a -3 W Refy 91 T AR LA TPRIS
x+y+z=1
2x+3y+2z=2

ax +ay +2az=4

32T MATH [5] Contd



S.

Find the value of k so that the following function

"sinl00x i x%0
flx)= 99 ~’
k , if x=0
is continuous at x =0. 4

sinl00x
== IWx=0

M fl)=1 99
k , IWx=0

Tl x = 0 Ko wf¥ifomn =@, (ot k 3 W Ry =1

., dy .
Find dx if — 2404

d
Sreat —2 afiz—
X

(i) sin*x+cos’y=1

) y= e

Prove that the greatest integer function defined by

f(x)=[x], 0 <x<2 is not differentiable at x=1. 4

ot I A f(x)=[x], 0 < x <2-I AR BT ARD TS FANH x=1]
Re g a2 |

32T MATH [6]

32T MATH

e OR /&33!

If (M) e¥(x+1)=1, show that (RS @) a4
22-(2)
dx* \dx/’
Evaluate : 2+9=4
s fefa 0 ¢

3/2 x_l)
(@) I(x +2e xdx
(b) jsinS xcos® xdx
OR / &%

Evaluate : 4

W A 10 2

J‘ x+3 dx

\/5—4x—x2

Find the equations of the tangent and normal to the curve
x2/3+y2/3 =2 at (1, 1). 2+2=4

xH 4 ¥ =2 37 (1, 1) WWWWW‘TW@I

[7] Contd.



10.

11,

OR / G4

Find the local maxima and local minima, if any, of the function
flx) = x*~6x® + 9x + 15. 249-4

fl(x) = xro—6x2 +9x + 15 WWWWWWW%{%@T
RiA- ] h

A particl .
particle moves along the curve 6y= x® +2 . Find the point(s) on

the curve at which the y-coordinate is changing 8 times ag fast
the x-coordinate. St as
4

<01 IR 6y = x” +2 I 5D I | IEWOR G T
(RR s
x-m@WS@‘T@ﬁ@%y_mﬁoﬁa%\?ml )Wmﬂ\s

OR / o134t

Show that the function f (x) =cos3x is neither strictly increasing

nor decreasing on (0, % ). 4

Y& @ f(x) = cos3x T ( O, % )-® Wﬁﬂfﬁﬂmmﬂaﬁam.

5
Evaluate _[(x+1)dx as the limit of a sum.
0

QUoFeTR 5 A RpIest sj(x+1)dx-a T e =1

32T MATH (8]

12.

13.

32T MATH

OR/ &%l

Evaluate :
W B =0 ¢

zl2 .
J' sSinx

2
° 1+cos™ x

dx

Show that the vector i + j+ k is equally inclined to the axes OX,

OY and OZ. 4
or4ed (@ § + ]+ k (O3 OX, OY SR OZ T &5 TSI (il A |

OR / 531
State the triangle inequality for any two vectors and prove it.

1+3=4
R Wo! (9FW AR fags SRRt &R ame =t

Probability of solving a specific problem independently by A and B

1 1
are — and — respectively. If both try to solve the problem

2 3
independently, find the probability that — 2+2=4

(i the problem is solved

(i) exactly one of them solves the problem.

1 1
A % B (3 95! Rl oyt Fomeid ANN I TSIl T EWE | af%

TPTIH TR AR SO FoFeIE (B3 FF, (9 Tl Fefm 7 A0S —
(i)  STETIC! AL

(i) (ST 0P GO TR FALH AR |

[9] Contd.



OR / 33t

Let X denote the number of hours Rita studies during a randomly

selected school day. The probability that X can take the values x
has the following form : ’

r

0.1, if x=0
kx, if =
P(X=x)=< 1 x=1or?2
k(5-x), if x=3 or4
. 0, otherwise

where k is an unknown constant.

(@) Find the value of k.

(b) What is the probability that Rita studie

s at least two hours,
exactly two hours and at most two hou

rs ? I+1+1+1=4

TS k G5l SRS 4375 |
(@) k-3 = [T 31

(b) %ﬁwﬁ@ﬂ@,ﬂ%@ﬂ‘ﬁmmﬁﬂ‘ﬁwmwwﬁ
Rt

32T MATH [10]

14. Find the minors and cofactors of the elements of the

3+3=6
determinant,
2 -3 S
6 O 4
1 5 =7
2 -3 5
6 0 4| Sefireodi CTETRIGT SRR oIRe STl Sttt |
1 5 =7
OR/ %4t
Find A-! by using elementary transformation, where — 6
T ey elferm) Sl SR A- Sfvedt T —
2 0 -1
A=|5 1 O
01 3
[11] Contd.

32T MATH



15. Define homogeneous function of degree n. Solve the differential
equation 1+5=6

(x2+xy)dy = (x2+y2 )dx
n AR T T el far

(x2+xy) dy = (32 +1? ) dx Smet ARG T S |

OR / 3t

(i) Solve the differential equation :

GIHE ANPGRS Sneat ¢

x%+ (2x+1)y =xe™?*

(ii) Form the differential equation of the family of circles touchi
the X-axis at origin. b

3
WX-WWWWWQWWWWW =

16. Integrate :

S 1

o I

(b) J xsin™ xdx 2+4=6

32T MATH [12]

OR/ q3dl

2cosx— 3sinx
dx
(@) —[( 6cosx+ 4sinx )

3+x+l

X
= = - d =
) ‘[ = X 2+4=6

17. For any three vectors a, b, &, prove that

ax(B+c) -axb vaxc

i fF0 (€3 @, b, ¢ -9 M & | @

OR / i<t

Three vectors a, 5 and & satisfy the condition g +b+¢ _5.
Evaluate the quantity
y=db+bé+éa i |a@|=1,|b|=4 and |¢|=2. .
5 (o3 FbE a+b+E=0 v Fm =

T [13] Contd.



18. Find the shortest distance between the lines
OR / 99t

F=(f+2j+l€)+l(f—j+l€) and ‘ L
. L Minimise and Maximise Z = Sx+ 10y
r=(2z—_1—k)+,u(2i+j+2]€ ) 5 subject to
x+2y < 120
F=({+2j+l€)+ﬂ(7_j+]€) M x+y260
- s 4 . x-2yz0
F=(2-j-&)+ (ol jr2k )
) ( J ) TOIFR e Frod 739 e | x,y=0 6
OR/ | x+2y < 120
x+y260
Find th i . x-2y=0
e equa.tlon of the plane passing through the point (-1, 3,2 Y 4
and perpendicular to each of the planes x +2y + 32 5’ »2) x,y=0 JCATH Z = 5x+ 10y -9 AR&H A SR WiN Sferedt|
3x+3y +z=0. =° and
6 00. Of the students in a college, it is known that 60% reside in hostel

-1, 3,2) RR @RI &% x+2y + 32 =5 & 3x+ 3y and 40% are day scholars (not residing in hostel). Previous year
+z =0 AToH Its report that 30% of all students who ide in h 1 i

ATEIIER UREE results rep who reside in hostel attain

FIOIR AP TSI 19 Sfevear | A grade and 20% of day scholars attain A grade in their annual

examination. At the end of the year, one student is chosen at

random from the college and he has an A grade, what is the

probability that the student is a hostlier ? 6

19. Minimize Z=3x+5
= y
92 RWIEET 60% (3 YARPTS =% 40% @ PRI A I T #4110

subject to x+3y > 3
Xty 52 w oe| SIS AT T PN ALIRN A YA A7 I W
30% (3 % QERPTS A0 QPR 20% (1 A (S “IRfEe | T2 e
x,Yy =0 o WWWWWWWACWWIWW
RET RN TSRS [/ 2
x+3y >3 o OR/ &%
x+y >2 .
. Find the mean number of heads in three tosses of a fair coin.
X, y 20 FES! ACCF Z = 3x + 5y -3 s A Sfove | Bt Fids s FORAR TR o (oIRT o YR Teg Fefiy =11 °
32TMATH x
Contd.
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o Part-1 (Botany) .
(s oot 3 Sfew ﬁ-@g{) .
1. What is Plasmid ? ' )

e &Fe

2. . o
Name the plant body where bisexual and both umsexual male dv
| any female .

flowers are present. -
1

o) 21‘0'1\‘51?[&7{ sﬂﬁiﬁ%ﬂﬂ wmﬁ
AR Wmmw
i o = @m%ﬁwﬁs

3.  Write full forrﬁ of VAM. | ‘ ‘
. | A . . ) 1 )

4. Who proposed Mutation theory ? : ' - o
. ’ , o 1
ol I GRICR erpTRfEe o
5. What is biogas ? | ~
R 7 2
6. Name two antibiotics produced from fung1
1+1=2

(CFR I aFS 3 fﬁv%mm'

32T BIOL (BOT-ZOO) (2]

How is DNA isolated in purified form from a bacterial cell ?

7.
. Bt @UERA @I 7RI DNA (TS s T 2 2
) t
Or/ o2l
What is recombinant DNA ? List the tools of Genetic Engineering. . 2
RERES DNA & 7 Rl sfowzse wRge Siza TR ot |
8. What is triple fusion ? Name the nuclei involved in the process. 1+1=2.
e T @Y R el Sive (@REE AR AW F
Or / 2l
What is meant by p‘olyembfyony in angiosperm ? Write its importance.
1+1=2
TS TR 3ol IE B 3| ¢ T g &
9. What is totipotency of the cell ? Write its importance in Plant science.
1+1=2
@ ARl e (i 2 g Reaws TR 93w &
32T BIOL (BOT-ZOO) (3] Contd.



10.  Explain briefly : (any two) 249
; |- :_-4

Ee)

: 12. How do biofertilizers enrich the fertility of the soil ?
baG (il (Riepieen v51) ' |
: € wiw Wity Tdeel @R e FE e
(i) Gene Gun

n _ 13. Describe the process of development of female gametophyte in Angiosperm
(i) Biopatent . - L - ;
| with suitable diagram. 3
JRCACHS '

| ToRe o eadE) e Tifeice e [ = ol
(iti) Gene Cloning. : . !
= ; ' : :
SRS ‘ - ' ; Or / 21
1k i e . B e e : :
Write the scientific names with their utilities of the following plants : Explain any three outbreeding devices that flower influence the plants have

(any three) (Vao+ 14 _
2+72)x3=3 developed to encourage cross-pollination. 3

oo Al St FNes @i O wi FRes IRee &) (Rizerea fofisy)
- R HRIIAINS AR TRACE AR Clere R =l RpIc] [olo) <fReeeee

(i) Tobacco ‘
_ | (eIt et <1 |
7o .
(i) Tulsi ' .
| _ | 14. Write briefly on Modern Synthetic Theory of Evolution. 4
el ' :
RrgTa Sy FRERe ©el 550 &
(i1i) Jute
PRI Or / S
(iv) Coffee Describe the factors involved in the process of organic evolution. 4
SR J
o e e ite e AN [REE 399 541 |

32T BIOL (BOT-ZOO '
) [4] 32T BIOL (BOT-ZOO) : [5] Contd.



. 15. Define Biotechnology. Write brieﬂy on tile mam a.im's of biotechnolo gy

1+4=5

Or/ G

-

v

Write an account on biotechnological appiicafion in m’edicine : .

%ﬁmﬁwaﬁﬁ@aﬁmﬂamﬁmaﬁaﬁﬁm

32T BIOL (BOT-ZOO) [6]

Pért—II (Z‘o.ology)
(TS =Tt ¢ eififEes=)

1. Fill in the blanks :‘(any two) . ' - - ©1x2=2
A D18 77 7] ¢ (Rt woy) - |

(1) The main function of interstitial cells of se‘miniferéus_ tubules
S | :
SO AT RIS (oI TGLST (PRI e A 2 X
®) proposed that ni;clei are the bearers of Vhei‘iditary characters.
. @ (PREERRS 09916 R e e IF ol
() The AUG codon is called B
| AUG TS I R
(d) Elephantiasis is caused by
__ i R o (ol ol =
(é) Greenhouse effect is mainly caused due to
(T 9T USRI T |
2. Answer any two . - S 1xe=2

ﬁmﬁa%@?ﬁ‘“g .

()

39T BIOL (BOT-ZOO) -

What is “Template strand’ ?

e &
(71 . . Contd



Define Ecological pyramid with one example.

-

‘(b) béﬁne. Test ‘cross. . I N B o : ' . .(d)
o e . - wraeRe PrRfNe-3 ﬁzw GIRRCZACLES TR

() Define Endemism. Give one example of endemic animal of Assam.

() What is the function of mitochondria ih a sperm ?

e ke fal | SR @Ry e e T

SIS TR T o

{j] | What do you mean by replication' ? Define semiconservativé DNA

(d) What are ’Transgenfc Animals’ ? replication.

S .Wﬁﬁﬁ%@?WWDNAaﬁ—?ﬁeﬁﬁm@ﬁw -

GHT SR e
| . 4. Write the differences between : (an two) B . 2x2=4
3.  Answer any four : , | | . - m ‘ o Yy o N |
. : : x4=8 N : IRiE: s (Rt wor)
| Rzt sifase Tes B g . o i
- ' | ‘,\ . () Homozygous and Heterozygous
(1) What is Menstrual cycle 7 Which hormones control the mens& | ' . W‘m wie Rl
cycle? | >rua ' ,
' Linkage and Recombination
oo 0 & o sonve Ragd s@e ®) |
. . m“;{@f Y ?f'{g &I
() What is Point mutation ? Give one example. | d : o .
~ : . ' ‘ (¢ Aneuploidy an olyploidy
Ry TesifRads o by Sureet ot - N
' _— o GReel % I2BTS
(0 What is Adaptive radiation ? Give one exgmplé‘ ' () Vaccination and Immunisation.

chmmiﬁmﬁm‘l‘

'Wﬁﬁ? R Ree by Tz ol | |
B £ Contd.
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5. Draw a labelled diagram of T.S. of ovary. 3
fowmm ez Ba iR Bige =i
.Or/ gy
Dr;aw a labelled diagra%n of double helical structure lof DNA. 3

fRpusige DNA 19" B3 S B 21|

6. What are the sexually transmitted diseases ? Mention the various causes

of these diseases: ' : | . 14023

et 7o1R® @t 3t e R o2 €% i %Wﬁ‘ﬂé%ﬂﬁn
Or/ g3t

Mention the effects of drugs and alcohols.

YR S IR R T S 3

7. Write the salient features of Human Genome.

T R o wWEE T B | ;

Or / g3t

Write the various reasons of the loss of Biodiversit}} |
tetaha wem w9 TR BEme 7=

32T BIOL (BOT-ZOO) ©[10]

i .

Describe th;e »structui:e and functions of Ecosystgm.

. TR oo o e 3 =

Or/ 544t

Des éfibe the regulaﬁori of gene expression in bacterial cell. .
e , -

e @m—ﬁ,ﬂwaﬁm =RrcH! 1 =1

. Describe the various chromosomal disorders.

| afew wwen Rewa E T T

Or / a4t

Describe about the Pedigree analysis.

<) 3oqa R oFafolsl T 1

\
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COMPUTER SCIENCE AND APPLICATIONS
( Theory )

Full Marks : 70
Pass Marks : 21

Time : Three hours

The figures in the margin indicate full marks -
: for the questions.

Q. No. 1 carries 1 mark each 1x8= 8
Q. No. 2 carries 2 marks each 2x10 = 20
Q. No. 3 carries 3 marks each . 3%x9 = 27
Q. No. 4 carries 5 marks ead{ 5x3 = 15

Total = 70

Conitd.



1.  Answer the following : (any eight) 1x8=8 ' (h) What is SOL ?

FiceIzant @ibh! e Tes < ¢ ' ' SQL f 2
(a) State two advantages of C++. : ! (i) What is a binary file ?
C++ -9 70! H[al foyalf 2 I _ " Binary file & ?
(b) What is"a class ? . (j) Define constructor.
Class & 2 Constructor-9 Jt&| 741 |
() What is an object ? ' 2. Answer the following questions : (any ten) | 2x10=20
Object e 2 | T i st o S i ¢ (A 72
(d) State two data types of C++. | | (@) What is function overloading ? ;
C++ -9 79% data type CEHRl 1 | ' | Function overloading f& ?
(e) Define a data structure. | (b) Define abstract class and concrete class.
Data structure-3 Jg&l w3y | _ Abstract class Sli% concrete class-3 7t |
() What is member function ? () Define a destructor.

Member function = 2 Destructor- ke fo12ll |

(d) State the commutative and associative law of Boolean algebra.

(8) What is a database ?
Boolean algebra -9 commutative ¥¥: associative law %@Q} |

Database ?% ¢

32T CSCA [2] 32T CSCA [3] Conid



(e)

()

()

(1)

()

(k)

0

(1)

32T csca

What is packet switching ?
Packet switching & 2

Define Bandwidth.

Bandwidth- Fi<&l fer4ii |

State two uses of XML.
XML-3 75 I929 SEd 41 |
Define a Queue.

Queue— Al &4l |

Define a Stack.

Stack - 7K@l {eT4ll |

State two advantages of LAN.
LAN -3 757 R4l Srasd <51 |
What is data transfer rate ?

Data transfer rate & 2

State the use of Karnaugh Map.
Karnaugh Map -3 9218 e 34|
What is a base class ?

Base class Gl

[4]

(1)

Define Pointer.

Pointer-< el W=l |

Answer any nine from the following : ' 3x9=27

W ReHizel 751 26F Bed 41 8

()

()

(c)

(d)

(e)

82T (@S U

Write briefly about the advantages of object oriented programming
language.

Object oriented programming language ~3 ARLIEE 50> ol |

State the process of creating and writing text into a file.

<5l file - text create SN write T3 @[O0 TER 4

Differentiate ‘pass by value’ from ‘pass by reference’.

“Pass by value’ ®ii% ‘pass by reference’ -4 sitefa fei|

Write the codes in C++ to declare and initialize a pointer.

Pointer 96! declare Si% initialize FRIT A C++-9 &bl program
GEIN

Write SOL to creaté a table named student with 4 fields namely :

SID, SNAME, ADDRESS and MARKS.

oot Al field 92 (51 SQL-F student W €3 table create ¥4I 8

SID, SNAME, ADDRESS %iiss MARKS.

[5] Contd.



(f)  Write the differences of Text file and Binary file. ! (1) . Write the advantages of Java Script.

Text file 9% Binary file-< ~ii2f<y &1 | Java Script - ‘ﬁW Rl

|

|
: |
(g). What are the advantages of using SQL ? i 4 Answer any three from the following: 5%3=15
|

SQL IR 99 RGP [ & 2 e g ST e Bew

()~ Explain the Push and POP operations on a stack. ) e a G program to add two matrices of order 4 x 4.

Stack-9 Push S[% POP operations-< 30 q@12 74 | 751 4 x 4 (IBFR QI STt CHt 95 program f&71l |

(1)  Explain the process of selection sort with an example. (b) Write a C:++ program to implement binary search in an array.

Selsctonteors aaloaia WW TR %2“ | Array €I binary search Seis! 3399 AIE C++ -9 ¢bl program R

(j)  Explain the process of obtaining Sum of Product (SOP) using Truth

I () Explain the concept of multiple inheritence.
Table. |

{ iple inheritence-9 v ?,{@E G
Truth Table /9218 F[ Sum of Product (SOP) [z 511 2imfoE @ | Multiple in

@2 | (d) Compare XML with HTML.

(k) Explain the aggregate functions of SQL. XML ¥ HTML ¥ &% Wweir| T4

SQL -5 aggregate functionfi?iﬁ BRI W GEO! N | e briefly about DDL and DML with éxample.

DDL St DML-3 R TRIEETR B ferat |

() Explain three different types of network topologies.

o5 (@ @15 network topologies-3 A farmil|

i slete an element from an array.
(H Write a C++ program to de

y : Jote & C++ -® @51 prograny f&741 |
(m) Differentiate LAN from WAN. : ¢ @bl delete F{RACe prog

Array B #[F| elemen
LAN sii: WAN-F #i1<f @i

2T CScp : [6] 30T CSCA _ [7]
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Pass Marks : 30

Time : Three hours

The figures in the margin indicate full marks
for the questions.

( There are three groups — A, B and C. Grau;u A and Group B are for New
Syllabus candidates and Group B and Group C are for Old Syllabus

candidates. ) ’

(@ . Group A (Vibgyor) New Syllabus - 65
(b) Group B New & Old Syllabus ' — 35
(¢)  Group C (Effusions) Old Syllabus - 65

Contd. .



GROUP - A
~ (VIBGYOR)
- (NEW SYLLABUS)

1. Give brief aﬁswers to any five of the following : : 1x5=5
(@) Where did the new vicar come from ? 1
(b) Who is Albert Edward ? | 1
(c) Who are called ‘colour bli_nd" ? - : 1I
'(d) Who lacks automobile sensibility 7 : : ' o]
(¢) How far is Panagarh ? ' 1
() What is the full name of Mrigangko Babu? 1
(¢) What did Della buy for her husband as the gift of Magi? 1
(h) Where did Della sell her long hair ? e 1
(i) Why does Robert Lynd read Emerson ? 1
() Who is Epictetus ? | 1
An.swer any five of the following : : 2x5=10
(1) What impression did the Vicar have about the new vicar? 2
() How did the Verger regard his official dress ? 2
(c) What did R. K. Narayan do to turn his energies again to write
stories ? 2
(d) What made R. K. Narayan fear that he would éoon become
bankrupt ? - % | 2
Sl [2]

(¢) What were the suspicions of Mrigangko Babu ? 2

) Why did Mrigangko Babu never consult the almanac before

travelling anywhere ? : . AL
(¢) What did Jim do to get a gift for Della ? 2
() Why was Della sobbing and sniffling ? R

(i) What h'appened to Robert Lynd even after reading Marcus
Aurelius and Emerson ? _ 2

(7))  What happened to the thief who stole Epictetus’ iron lamp ?
; ; 2
Give brief answers to any three of the following : dx5=12

(@) Describe the circumstances under which the Verger had to lose
his job in St. Peter’s Church. 4

(b) How _did the auto-pundits react after seeing R. K. Narayan's
‘imported car’ ? - -

(c) Why did Abhiram leave the house of Mrigangko Babu ? 4

(d) How did Della save the pennies of the sixty cents of her total
savings ? : 4

(e) Examine Robert Lynd’s quest for instant wisdom. 4
Explain with reference to the context any two of the following
excerpts : 3 Lol

(@) “Since my car was of special pedigree, it was unadvisable to
allow any ordinary workshop to open the bonnet.” 4

(b) “The elite shop could produce one if I was prepared to pay two
thousand for the piece.” 4

32T ALTE [3] Contd.



(c) “It was the end of January. All the crops had been removed

from the fields.” : : B
(d) “When Della reached homel, her intoxication gave Way a little to
prudence and reason.” 4
54 Give-brief answers to any five of the following : 1x5=5
(1) Who is the poet of the poem ‘Sita’ ?
() ° How many children were listening to the s’t;)ry of Sita ? 1
() How many hills does the brook run past ? 1
(d) Name the birds that fly above the brook. . | 1
() Who is Oz_ymandiasJ? | 1
() What is thé meaning of thé word “visage” ? 1
(¢) What kind of a p-oem ‘Ozymandias of Egypt’ is ? 1
(h) Where did the knight see a lily ? Vi 1
| (i) Where did the lady take fhe knight ? 1
(i) Whose song lures the maiden ? | i
6. Answer aﬁy four of the following : 2-><4=8
(1) Why are the children weeping in the poem ‘Sita’ ? )
®) What is meant by “shingly bars” ? I )
() What were the words that were inscribed on the pedestal of the
statue of Ozymandias ? -
(d) What did the knight see in his dream on the hillside ? 2
(¢) What will the maiden’s mother and bI'Other do if she is late in
reaching home ? ' >
32T ALTE | [4]

>

(n)

7. Answer any three of the following : 4x3=12

Explain how the poem ‘Sita’ reflects the poet’s deep love for

- nature. - 4

- () ;
(©)

(d)
(e)

What is the refrain in the poem ‘The Brook”? Bring out the
profundity in it. 4

With what are ‘the shadows of evening’ compared in the poem
‘Village Song’ ? ' | 4

What did the traveller from the antique land tell the poet? 4

What is the appearance of the lady ? ]

8.  Explain with reference to the context, any one of the following

excerpts : 5x1=5

(a)

(b)

(c)

32T ALTE

It is an old, old story, and the lay
Which has evoked sad Sita from the past
[s by a mother sung... “Tis hushed at last

And melts the picture from their sight away.

I chatter, chatter, as I flow
To join the brimming river,
For men may come and men may go,

But I go on forever.

She found me roots of relish sweet,
And honey wild, and manna-dew,
And sure in language strange she said—

“I love thee true”.

[5] : Contd.



' >ropri i my five of the following :
GROUP - B ‘ | » 10. Add appropriate q?eshons tag to any five of the g

| 1x5=5
(OLD & NEW SYLLABUS) | | 1
' ) (e g today. \
' ' : 7) Everything has gone wrong
9. Change any fme of the sentences given below as per instruction given, @
without changing their meaning : a5tz B ot Mk :
(1) None but Anita can do the sum. (Change into affirmative) '. (©) Close the S _ 1
5 i | |
e (d) You like a lot of sugar in your milk. 1
(b) All of them welcomed the suggestion enthulsiash'cally. ' | : | :
(Change into passive) . () Don't go there. |
1 I .
: () Sachin shouldn’t have played that shot. 1
(¢) Doesn’t he live with his parents ? (Change.into assertive) | : : y
| I (g) The house needs immediate renovation.
. : ik _ :
(d) The strawberry pie was eaten by me. (Change into active) ; i (h) No man is immortal.
1l
(¢) As soon as he saw me, he began to weep : 11. Fill any five of the following blanks with suitable preposition; :5 Y
e / reep. _ : SEe
(Change into negative) :
1 -
(@) I can see the boat : the picture. T
() This is not the correct way of answering the question, fl % fLien s :
(Changeé into fnterrognﬁw) . (v) The woman 1S sitting g
| : (c) The cup is her hand. 1
Everybody must admit that she is a good singer. . _ ROl s ;
(8) v/ (Change into negative) (@) Iam anglous o uither
_ 7 - :
(e) Be true your word.
(h) Let the game be finished. (Change into (ICHZ?? el g Bl e :
‘ 7 Contd.
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12

13

(¢) Rini has recovered her illness. ; i

(I)  You may rely my word. 1

Rewrite any fit I I I
e any five of the following sentences using the verbs given in

brackets in their corrgct forms : | 1%5=5
(a) Ice (float) on water. . | 1
(b) He (go) home when he met him. _ 1
(c) 1 want to go 'for a walk, but I-(not finish) my work yet. 1
(d) Perhaps it (rain) yestérdlay. 1
(e) All the students (leave) when I reached the school. 1
() You (sleep) for threé hours now. 1
(g) I asked if she (see) him before. 1
(I) We (work) on a new project. : 1

Read the passage given below and answer the questions that folloyw -

Green tea has been credited for centuries with significant medicina]
properties. Recent studies have confirmed its many benefits, and haye
attested to the importance of this ancient plant in the IOngvity o
those who drink it often.

Originally from China, where} it has been consumed for millennia
green tea didn’t make its way to the rest of the world ungjj just a fev\;

centuries ago. Unlike other teas, and as a result of being air-dried

32T ALTE [8]

without fermentation, it retains its active elements even after being
dried and crumbled. It offers meaningful health benefits such
as : (i) controlling cholesterol, (ii) ‘lowering blood sugar levels,
(iii) improving circulation, (iv) protection against the flu, (v) promoting
bone health, etc.

White tea, with its high concentration of natural nutrients, may be
even more effective against aging. In fact, it is considered to be the
natural product with the greatest anti-oxidant power in the world —
to the extent that one cup of white tea might pack the same punch
as about-a dozen glasses of orange juice. Therefore, drinking green or
white tea every day can help us reduce the free radicals in our bodies,

keeping us young longer.

(1) What has been credited with significant medicinal properties ?
1

(b) For how many years has green tea been consumed in China and

when did it reach the rest of the world ? ' 2

(c) Why does green tea remain fresh even after being dried and
crumbled ? ' 3

(d) Mention three benefits of drinking green tea. 3

(¢) Why is white tea considered the greatest anti-oxidant power ?
2

() Write about the overall benefits of drinking green and white tea.
: ' 4

32T ALTE O {91 Contd.



14. Answer any five of the following : | 1x5=5
(a) What, accorcimg to Ambedkar, must be the test of greatness ?
' 1
(b) Who is Alexander the Great ? 1
(c) Who is referred to as the apostle of Hero Worship ? 1
(d) What do you mean by ‘voodoo-men’ ? 1
(¢) Who is Bapu ? 1
(/ What does an automobile mean to Narayan ? | i
(¢) Whose disciple was Nehru 28 1
() What, according to Forster, is a mental starch ? 1
(i) Who was Dante ? i
() Where did Nehru receive Gar;dhi’s short note ?
15. Answer any five of .the following : 2x5=1()

GROUP - C
(EFFUSIONS)
(OLD SYLLABUS)

(1) What is the view of Roseberry on the qua]ities.of a great man ?

2

(b)) Who is Napoleon ? Who did test the greatness of Napoleon ?

32T ALTE
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(c)

What is the view of Ambedkar regarding the greatness of military

men ? 2

Why does not Narayan’s driver\ particularly like to drive with

(@)
the air conditioner on ? 2
(e) What are the things R. K. Narayan valued most ? 2.
() What impression did the car of R. K. Narayan create among, the
auto-pundits ? | )
(9 What are the two reasons for Forster's two cheers for
- democracy ? 2
(h) What is E.M. Forster’s view on ‘Faith’ ? Al
(i) Why was Nehru critical of the Congress Working Committee’s
resolution ? 2
() What does Russell mean by “Return to nature” ? 2
16. Answer aiy three of the following . 4x3=12
(1) Write a note on the test of a great man as suggested by
philosophers. - 4
(h) Why is the acquisition of a sophisticated imported car ‘an

32T ALTE

irrelevancy and a nuisance’ for Narayan ? 4
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()

(d)
(e)

)

What was the opinion of R. K. Narayan about his friend who
collected car’s spare parts ? 4

Explain what constitutes real democracy. , 4

How does Nehru overcome his loneliness and feeling of
helplessness which assail him in prison ? 4

Discuss Forster’s views on personal relationship. 4

17. Explain with reference to the context any two of the following :

4x2=8

(@) “If greatness stands for natural power, for predominance, for
something beyond humanity, then Napoleon was a'ssuredly
great.” _ 4
(b) “Democracy is not a Beloved Republic really, and never will be.
~ But it is less hateful than other contemporary forms of
government and to that extent it deserves our supp'ort.” 4
(c) A gentleman must have something more than What a merely
eminent individual has. : 4
(d) “Clearly the line between scientific and traditional technique is
not a sharp one, and ORE Can say exactly where one ends and
the other begins.” 4
18.  Answer any five of the following : - 1x5=5
(@) What is meaning of the word ‘ere’ ? v
(b) Who was half asleep ? i
32T ALTE [12]

(c)

(d) What lies beyond the north wall ? 1y

() Who ride away from each other ? 1

() Who was weeping in a dense forest ? 1

(g) Who is singing the song of Sita ? 1

()  Give an example of the poet’s use of metaphor in the poem

“Rickshaw-Wallah.” 1

(i) What is “tattoo” ? ]

() What are the colours on the arms and legs of the Rickshaw-

Wallah ? : 1

19. - Answer any four of the following : 2x4=8

(1) What are the things that Hardy regards as permanent in human

life ? : - 2

() Why is ‘the man’ as well as ‘the horse” in the poem old and

tired ? - 2

(c) What are the images used to suggest the parting between the

friends ? . : : 2

(H) What does the poet mean when he says, “War’s annals will

cloud into night/Ere their story die ?” 2

(¢) What do the children gaze on in the darkened room ? 2

() Why did tears flow from three pairs of young eyes ? 2

32T ALTE [13] Contd.

What does the old horse do ? | | / 1



(g) What happens when the fair lady weeps? | . - 2
() What is the subject matter of the “Rickshaw-Wallah” .? 2
20. Answer any three of the following : L5 4x3=12
(a) What are the things that Hardy regards as permanent in human
life ? Explain. . ; 4

(b) How does the poet bring out the painful experience of the parting
of friends ? L

(c) Critically examine the series of pictures that Pound’s poem offers
) 4

(d) Describe the effect of the mother’s song on the children, 4
(e) Exp_lain the significance of the last two lines of ‘Sita’ 4

52T ALTE

‘Rickshaw-Wallah” is a poetic description of the poverty and
misery. Explain. an

+
21. Explain with reference to the context any one of the following :
5)(1::5
(a) “Only thin smoke without flame
From the heaps of couch-grass ;
Yet this will go onward the same
Though Dynasties pass.”

| 5

[14]

®)

(c)

“Here we must make separation
And go out through a thousand
‘miles of dead grass.”

“Tears from three pairs of young eyes fall amain,

'And bowed in sorrow are the three young heads.”

32T ALTE
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